4.5 Factoring Complex Trinomials.notebook November 10, 2015

1. Expand and simplify -2(x - 3)(2x + 5)
-0 (&y"-— X — IS )
= - Sox? + Q'x + 3O

|l

2. Fully factor each of the following:

a) x2-5x -24 b) 4x2 -12x -16 c) 3x%-12x -16 + 4x
:(fx’»%Y’x+3> — Ll(rxz- 37-'4) = Bx (- "‘)’H(H—/X>
=Y (/){_L,(X/X_Hv :3’\((’\/*‘0"‘"‘((’)(*“‘0
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4.5 Factoring Complex Trinomials
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x2-x-20 simple trinomial

3x2-5x-2 complex trinomial

#
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Always common factor first!

= 2 (x4x-2) -2

I\J\
=3(x-Nrd) A
No-12
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Factor 2x2+ 5x + 3 using algebra tiles.
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Factoring by Decomposition

Expand {
(2x—1)(3x+5)=6x"+10x—3x—5

=6x"+7x-5
5 you need a way of breaking up the middle term into
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Given 5;(2 +7
10x and -3x.

Use a M.A.N. table, but find the two numbers that:
Multiply to: AXC
Add to: B

Once you have found the 2 numbers you can factor
e use the numbers to break up the middle term
N L(s) = -0

e factor by grouping

6x> +7x—-5=6x> +10x—3x—5
=2x(3x+5)-1(3x+5)

=(3x+5)(2x—1)
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Ex. 2 Factor by decomposition

a) 12x2 + 11x - 5
= |- tpet15x -5
:L{’XG”)(- |>+5 (3,,( - I)

= (3o ) Y
x X fx—fS) o
1O
Mo 30
Ao 20
I's
b,lo
c) 10x2- 17x + 3
M 30 =\0r*15x-ax+3
A -13 :‘5*{(27—-3}-—(3«—%)
V) 2205 =(3'x—3>(§9(—\)
KY%)
30
2,/0
S, G
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b) 8x%-2x -3
= By’ 4x- - 3 M -4

:q’X(Q'X‘*D-B(QWi—D A -2

=(27+D(‘~49(—S\) N Y,-0
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d) 12 + 18d + 8d2
=2(t+94 +'—fol") M 24
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Bage 245
€1, 2¢f, 4¢df, Sace, Gaedf, 7¢, 12, 13




